Biscuitlnsulation Versus Blanket Insulation

The R Value of biscuitinsulation has to be increased to meet code compliance
because of heat losses through timber joist and air movement.

Air Movement Through Insulation Edges

l

Heat Loss Through Joist And Small Gaps Can Reduce P erformance
By 28% to 50%

The R Value of blanket insulation can be reduced to meet code compliance
because there is no heat loss, gaps or air movement.

Air Movement Through Insulation Is Eliminated

Heat Loss Through Joist Are Eliminated And Can Increase
Performance By 48%



